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qruntgn hwidwin b “X”/ /wnwg U</
wtinkpp
1 «Upuunw» UNC X 30 000
2 «Ounoht» UMQ 32000
3 «Gwdw» UNC 32 600
4 «EYyndhpu» UMC 33 333.33
5 «Hawpht» UMQ 37 200
«Mniquutuw Uhuwujwu
6 dwnhtwlhy U2 38 800
Quithwpwdhu 23:
Qudwu wnwpyw b hwunhuwund® Lynudhubugbuwnwhu gbpYuwyht puidy
<pwytph <pwytph Wohwiwuyw
wwhwugubpht wwhwugubtphu
Uwutwygh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp tlwpugpnt
/hwdwywwnwufuwubnt | /shwdwywwnwufuwubn nm:‘p i
ntiwpnd ugk “X”/ L niwpnid ugb “X”/
1 «q-UJL{UJ» ume X
9 «Mniquittw Uhtwujwu X
Llwr]hbwqh» ua
3 | «Owwaohu» UMC X
4 | «EYyndhpu» UMLC X
5 | «Upuunw» UMC X
Uwutiwlhgub Cunpyws swutiwlhg Uwutiwygh
rh U wutw wujwuntdp /punpqwéd Jwutw wnwowplwé ghu
wnbgpwé 9 9
qrtunsg hwdwp Uk “X”/ /wnwig ULL/
wkntpp
1 «Upuunw» UMNC X 12 500
2 «Owwnohu» UMLC 16 000
«Mniquittw Uhtwujwu
3 q.UJr]hUUJuh» ua 19250
«Gwdw» UMC 19 375
«Eyndhpu» UMC 31083.33
Quithwpwdhu 24:
Qudwu wnwpyw b hwunhuwund' Lyinudhubugbunwhu geptYwihu pudy 1
<pwidbiph <pwybiph Wuhwiwwyu
wwhwugubphtu wwhwugubphu
Uwutwygh nwufjuwunyey
</ hwiwwywwwufuwunn | shwiwwywwmwufuwunn
wujwunwdp wu hwdwnnun
< hwyuinbip hwjwnbp tlwpwgpnt
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn l‘m:rl‘ i
nbwpnud ugk “X”/ L nGwpnud gk “X”/
1 «q-UJLI_UJ» ump X
9 «Mniquutw Uhtwujwu X
Jdwnhuwyp» U

10



3 «I:qndhpu» ume X
4 «ﬂbwghd» umne X
5 | «Upuunw» UMC X
Uwutlll:;lhhgtlh Cuwnpjwsé dwutwlhg Uwutiwygh
wnbanwé Uwutwlgh wudwunuip /puinpywd dwutwygh wnwowplwé ghu
qpml;lqlg:n hwdwi gty “X”/ /wnwig U<L/
1 «Upuunw» UNC X 60 000
2 «Gwdw» UNC 99 000
3 «Yhwphu» UMC 102 000
«niquutiw UhUuwujwtu
4 dwnhtwlhy U2 105 000
5 «Eyndhpu» UMC 136 500
Quithwpwdhu 25:
Qudwl wnwpyw b hwunhuwund' dwybih uyhpwn
<pwytph <pwytph Wohwiwuyw
wwhwugubpht wwhwugubtphu
Uwutwygh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp uly nt
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubn wp:::rp i
ntiwpnd ugk “X”/ L niwpnid ugb “X”/ ]
1 | «@nwu Shjuthlu» UMC X
9 «Mniquittw Uhtwujwu X
Jwnhuwyph» U
Uwulllt:;]l]hgtlh Luwnpwé dwutiwlhg Uwutiwlgh
qpuintgpws U wutwlgh wujwunudp /nunpwd Jwutwygh wnwowplwé ghu
inbntnp hwdwnp ugby “X”/ /wnwug ULL/
1 «Gnwu Skjuuplu» UMC X 44 700
«Mniquittw Uhtwujwu
2 L{wqhhwqh» ua 44800
Quithwpwdhu 26:
Qudwu wnwpyw £ hwunhuwund' Lwp 1
<pwybiph <pwybiph Wohwiwuyw
wwhwugubpht wwhwugubphu
Uwutwygh wnwufjuwunypey
</ hwiwwywwwufuwunn | shwiwwywwwufuwunn
wudwunwdp wu hwdwnnun
< hwjwnbp hwjwnbp u
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn llw[l:ll:,[mljra
nbiwpnud ugk) “X”/ L nbwpnid gk “X”/
1 «awphd» UNLC X
3 «Mniquiutw Uhtwujwu X
Ll.wnhhtuhh» ua
UWUU:;‘lIhQUh Cunpywé Swutiwlhg Uwutwlgh
wnbanwé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qpm:qgr"‘n hwdwp gk “X”/ /winwtg UL/
«Mniquiutw Uhtwujwu
1 Jwnhuwyh» U X 91 300
2 «MtGwphd» UMC 92 400
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Quithwpwdhu 27:

Yudwu wnwplw £ hwunpuwun' Lwpe 2

<pwytph <pwytph Wohwdwuyw
wwhwugubpht wwhwugubtphu
Uwutwlygh nwufjuwunypey
</ hwiwwywwnwujuwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp lwpugpnt
/hwdwywwnwufuwubint | /shwdwwywwnwufuwibn I‘Im:rl i
ntiwpnd ugky “X”/ L niwypnid ugk “X”/
1 «ﬂbwphd» ume X
2 | «Ownohu» UMC X
3 «niquutw UhUuwujwtu X
LLqu]h'UuJUh» ua
4 | «Upuunw» UMC X
U“‘“t'“#'hgt'h Cunpywé dwutwlhg Uwutwlgh
w ph wé U wutwlygh wujwunidp /nunpwd Jwutiwygh wnwowplwé ghu
apuinman huwdwp gl “X”/ /wnuitig ULL/
wbinkpp
1 «Upuunw» UNC X 26 400
2 «Ounoht» UMQ 33330
3 «thwphd» UMC 34 320
«Mniquutw UhUuwujwu
! duwnhlwlhy U2 41250
Quithwpwdhu 28:
Qudwu wnwpyw b hwunhuwund' Lywgph thngh 6
<pwytph <pwytph Wohwiwuyw
wwhwugubpht wwhwugubtphu
Uwutiwygh nwujuwunypey
</ hwlwwywwmwuluwunn | shwiwwywunwufuwunn
wudwunwdp wu hwdwnnun
< hwjwnbp hwjwnbp tlwpwgpnt
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn l‘m:rl‘ i
nbiwpnd bk “X”/ L niwpnud gk “X”/
1 «Mtawphd» UNLC X
2 | «Upuunw» UMC X
3 «Mniquiutw Uhtwujwu X
Llwr]htuuuh» ua
Uwutwlyhgub Cunpywsé Jwutiwlhg Uwutiulgh
nh Uwutw wujwunwdip /nunpwd Jwutwygh wnwowpljwé ghu
qpunbgpws I
hwdwp ugk| “X”/ /wnwug ULL/
wkntpp
1 «tawphd» UMNLC X 123 750
2 «Upuunw» UMNC 127 500
«Mniquittw Uhtwujwu
3 q.UJr]hUUJuh» ua 175 500
Quithwpwdhu 29:
Qudwu wnwplyw b hwunpuwund' Lyugph thngh
</ Uwutwygh <pwybpp <pwybpp Uuhwdwuwjw
c wujwunwdp wwhwugubphu wwhwugubphu nwufjuwunyey
hwiwwywwwuuwunn | shwiwwywwwujuwunn | wu hwdwnnwn

12



hwywinbp hwjwnbp uwpwqgpnyp
/hwdwwwwnwufuwubint | /shwdwwywunwufuwubin nLu
nbwpnud ugk “X”/ L nGwpnud gk “X”/
1 «ﬂbwghd» umne X
2 | «Upuunw» UMC X
3 «niquutw UhUuwujwtu X
Llwr]hhwqh» ua
U“‘“"“;ll'hgt'h Cunpywé dwutwlhg Uwutwlgh
w ph wé U wutwlygh wujwunidp /punpywd dwutwlygh wnwowplwé ghu
qpuinEgn hwdwp gk “X”/ /wnwitg ULL/
inbinbpp
1 «Upuunw» UNC X 60 000
2 «Hawpht» UMQ 99 000
«Mniquutuw Uhuwujwu
3 dwnhtwlhy U2 99000
Quithwpwdhu 30:
Qudwl wnwpyw b hwunhuwund' lunquiuwy qniqupwh 1
<pwytph <pwytph Wthwiwwyu
wwhwugubpht wwhwugubtphu
Uwutwygh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp u N
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubn uwn:::‘p e
ntiwpnd bk “X”/ L niwpnid ugk “X”/
1 «Mtawphd» UMNC X
2 | «Owwohu» UMLC X
3 «Mniquittw Uhtwujwu X
Llwr]hbwqh» ua
4 | «Ywduw» UMC X
Uwubu;‘llhghh Cunpywsé Jwutwlhg Uwutiulgh
nb s U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
AR hwdwn Ul “X”/ /winwtg UKL/
wbntpp
1 «Owwnghu» UMLC X 19 400
«Mniquittw Uhtwujwu
2 q.UJr]hUUJuh» ua 24 OOO
«tawphd» UMNLC 24 000
4 «Gwdw» UMC 28 750
Quithwpwdhu 31:
Qudwl wnwplyw £ hwunpuwund' nquuwy wdwu Juwuwpnt
<pwdbiph <pwybiph Wohwiwuw
wwhwugubphtu wwhwugubphu
Uwutwygh nwufjuwunyey
</ hwiwwywwwufuwunn | shwiwwywwmwufuwunn
wujwunwdp wu hwdwnnun
< hwyuinbip hwjwnbp u
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn llwll:ll:,nnljra
nbiwpnud ugk “X”/ L nbwpnid ugky “X”/
1 «Owwnohu» UMC X
9 «Mniquutw Uhtwujwu X
Jdwnhuwyp» U

13



Uwuhu;lqhghb Cuwnpjwsé dwutwlhg Uwutiwygh
w nl: wé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qruinEgn hwdwp gk “X”/ /wnwig ULL/
inbinbpp
1 «Owwnohu» UMC X 4160
«Mniquutw Uhtwujwu
2 dwnhtwlhy U2 5000
Quithwpwdhu 32:
Qudwu wnwplyw  hwunpuwund® <Ennily obwn
<pwytph <pwytiph Utshuwdwww
wwhwgubpht wwhwugtbpht “
Uwutiwlygh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp u n
/hwdwwywwnwufuwubint | /shwdwwywwnwufuwubn uwn:igp e
ntiwpnud ugk “X”/ L niwypnid ugk “X”/
1 | «Hawphd» UM X
2 | «&nwu Stfuthlu» UMC X
3 «Mniquutw UhUuwujwu X
Llwr]hhwqh» ua
U“‘“““#*hg“" Cunpywé dwutwlhg Uwutwlgh
w nh wé U wutwlygh wujwunidp /punpywd Jwutwlgh wnwowplwé ghu
qpuingn hwdwp gk “X”/ /wnwig ULL/
inbinbpp
1 «Htawphd» UMNC X 91 476
2 «Gnipwu Skluupyu» UNLC 123 760
«Mniquittw Uhtwujwu
3 Junhtuwlhy U2 124200
Quithwpwdhu 33:
Qudwu wnwpyw b hwunhuwund® Aknung munbuwywi 1
<pwybiph <pwybiph Wuhwiwwyu
wwhwugubpht wwhwugubtphu
Uwutwygh nwufuwunypey
</ hwlwwywwmwuluwunn | shwiwwywunwufuwunn
wudwunwdp wu hwdwnnun
< hwyinbip hwjwnbp ywpwgpnyp
/hwdwywwnwufuwubnt | /shwdwywwnwufuwubn N !
nbiwpnud ugk) “X”/ L nbwpnid gk “X”/ nt
1 «Owwnohu» UMLC X
3 «Mniquiutw Uhtwujwu X
Llwr]htuuuh» ua
Uwuhu;‘llhgbh Cuwnpwd Swutiwljhg Uwutwlgh
w nh wé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qpuntgn hwdwp Uk “X”/ /wnwitg ULL/
wbntpp
1 «Owwnphu» UMLC X 32 000
«Mniquittw Uhtwujwu
2 q.UJr]hUUJuh» ua 39750
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Quithwpwdhu 34:

Yudwu wnwplw £ hwunhuwunu® Aknung nunbuwlw 2

<pwytph <pwytph Wohwdwuyw
U wutiwlgh wwhwugubpht wwhwugubtphu inwuuwng
</ — g. hwiwwywwnwujuwunn | shwiwwywwnwufuwunn o hwd nnraj
< wqwtnudp hwyinbp hwjwnbp it fitduinnin
uwpwqpnyp
/hwdwywwnwufuwubint | /shwdwwywwnwufuwibn ntl
ntiwpnd ugk| “X”/ L niwypnid ugk “X”/
1 «OLquhU» umnp X
3 «niquutw UhUuwujwtu X
Llwr]hhwqh» ua
U“‘“t'“#'hgt'h Cunpywé dwutwlhg Uwutwlgh
qurrbgpwé U wutwlgh wujwunudp /puinpywd dwutwlygh wnwowplwé ght
inbintnp hwdwp ugti “X”/ /wnwug ULL/
1 «Ounghtis UMQ X 32000
«Mniquutuw Uhuwujwu
2 dunhtulhy U2 39750
Quithwpwdhu 35:
Qudwu wnwpyw b hwunhuwund® Uwppnn dhong 6
Spuwtiph <puwtiph Utshwwww
Uwutnugh wwhwgubph wwhwgubpht mutufu -
</ :‘u :‘ ?j hwiwwywwwufuwunn | shwiwwywwwufuwunn ,:‘u: :;’l )
¢ wujwundp huiyinbip hwjunbp wu hwdwnnun
uyupugpnyp
/hwdwywwnwufuwubnt | /shwdwwywnwufuwubn ntl
nbiwpnd ugk) “X”/ L niwpnd ugb “X”/
1 «ﬂ-blughd» ume X
2 | «Upuunw» UMC X
3 «Mniquittw Uhtwujwu X
q_UJI’]J’]UUJuh» ua
Uwuhu;‘llhghh Cunpywé dwutiwlhg Uwutiulgh
qur{‘bgpwé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
inbntnp hwdwp ugb “X”/ /wnwug ULL/
1 «tawphd» UMNLC X 168 000
2 «Upuunw» UMNC 170 000
«Mniquittw Uhtwujwu
3 Jdwnhuwlh» U 226 000
Quithwpwdhu 36:
Qudwu wnwplyw £ hwunhpuwund Uwppnn dhong 8
<pwytiph <pwytiph UtshwSwww
wwhwugubphtu wwhwugubphu “
Uwutwygh nwufjuwunyey
</ wiwbnud hwiwwywwwufuwunn | shwiwwywwmwufuwunn wit hwdwnntn
< e hwyuinbip hwjwnbp
uyupugpnyp
/hwdwwwwnwufuwubint | /shwdwwywunwufuwubin ntl
nbwpnid tok “X”/ L nbwpnud ugby “X”/
1 | «Mthwphd» UMC X
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9 «Mniquutw Uhtwujwu X
d.wr]hhwqh» ua
Uwubu;:.]hgtlh Cuwnpjwsé dwutwlhg Uwutiwygh
w pl: wé Uwutwlgh wudwunuip /puinpywd dwutwygh wnwowplwé ghu
qruinEgn hwdwp gk “X”/ /wnwitg ULL/
inbinbpp
1 «Mthwphd» UMC X 32500
«niquutiw UhUuwujwtu
2 Qunptwlhy U3 59800
Quithwpwdhu 37:
Qudwu wnwplyw E hwunhpuwund” Uwppnn dhong
<pwybph <pwybph UtshwSwuw
wwhwgubpht wwhwugubpht “
Uwutiwlygh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp uly nt
/hwdwwywwnwufuwubint | /shwdwwywwnwufuwubn wn:igp i
ntiwpnd ugk “X”/ L niwpnid ugb “X”/
1 «ﬂ-bl.ughd» umne X
9 «Mniquutw UhUuwujwu X
Llwr]hhwqh» ua
U“‘“““#*hgt"‘ Cunpywé dwutwlhg Uwutwlgh
w nh wé U wutwlygh wujwunidp /punpywd Jwutwlgh wnwowplwé ghu
qpuintgn hwdwp gk “X”/ /wnwig ULL/
wtinbpp
1 «Htawphd» UNC X 46 800
«Mniquittw Uhtwujwu
2 Junhtuwlhy U2 66 000
Quithwpwdhu 38:
Qudwu wnwplyw b hwunpuwund® Snp hwunwyh
<pwybiph <pwybiph Wuhwiwwyu
wwhwugubpht wwhwugubtphu
Uwutwygh nwufuwunypey
</ hwlwwywwmwuluwunn | shwiwwywunwufuwunn
wudwunwdp wu hwdwnnun
< hwyinbip hwjwnbp tlwpwgpnt
/hwdwywwnwufuwubnt | /shwdwywwnwufuwubn n :,p i
nbiwpnud ugk) “X”/ L nbwpnid gk “X”/ nt
1 «Mtawphd» UMNLC X
3 «Mniquiutw Uhtwujwu X
Llwr]htuuuh» ua
Uwuhu;‘llhgbh Cunpywsé Jwutiwlhg Uwutiulgh
w nh wé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qaptunsgn huwdwp ugby “X”/ /wnwiig UCL/
wbntpp
1 «tawphd» UMC X 87 500
«Mniquittw Uhtwujwu
2 q.UJr]hUUJuh» ua 90 000
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Qwihwpwdhu 39:

Yudwu wnwplw £ hwunhuwunut® Uyniug 2

<pwytph <pwytph Wohwdwuyw
wwhwugubpht wwhwugubtphu
Uwutwlygh nwufjuwunypey
</ hwiwwywwnwujuwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp lwpwgpnt
/hwdwywwnwufuwubint | /shwdwwywwnwufuwibn rlm:p i
ntiwpnd ugky “X”/ L niwypnid ugk “X”/
1 «ﬂbwphd» ume X
2 | «Upuunw» UMC X
3 «niquutw UhUuwujwtu X
Llwr]hhwlm» ua
U“‘“t'“#'hgt'h Cunpywé dwutwlhg Uwutwlgh
ph s U wutwlygh wujwunidp /nunpwd Jwutiwygh wnwowplwé ghu
qpunsgnw hwdwn Uk “X”/ /winwg UL/
inbinbpp
1 «Upuunw» UNC X 25 000
2 «thwphd» UME 27 500
«Mniquutw UhUuwujwu
3 duwnhtwlhy U2 46 500
Quithwpwdhu 40:
Qudwu wnwplyw £ hwunpuwund' Uyniug dEnmwnulw ywpnypny
<pwybph <pwytph Uthwlwww
wwhwgubpht wwhwugubpht “
Uwutwygh nwujuwunypey
</ hwiwwywwwuluwunn | shwiwwywunwufuwunn
wudwunwdp wt hwdwnnun
< hwjinbp hwjwnbp uly n
/hwdwywwnwufuwubnt | /shwdwwywnwufuwubn wpwgp el
nbiwpnd ugk) “X”/ L niwpnud ugb “X”/ nt
1 «Owwnohu» UMNLC X
Uwutiwlhgub Cunpywé Swutiwlhg Uwutwlgh
w nl!‘ wé U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qriuntgn hwdwp Uk “X”/ /wnwig ULL/
inbnbkpp
1 «Owwnghu» UMLC X 20 000
Quithwpwdhu 41:
Qudwu wnwplyw  hwunpuwund' O6wn &Gnph 3
<puwytph <pwybph Uthwdwww
wwhwugubpht wwhwugubphu “
Uwutwygh wnwufjuwunypey
</ hwiwwywwwufuwunny | shwiwwywwwufuwunn
wujwunwdp wu hwdwnnun
< hwjwnbp hwjwnbp u
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn llwnrl:ll:,pnljra
nbiwpnd ugk) “X”/ L nbwpnd ugky “X”/
1 «Mawphd» UNC X
2 | «Upuunw» UMC X
3 «Mniquutw Uhtwujwu X
Jdwnhuwyp» U
U wutwlhgut Cuwnpjwsé dwutwlhg Uwutwlygh
nh U wutwlygh wujwunidp /nunpwd Jwutwygh wnwowplwé ghu
qpwnbgpwé hwdwnp ugh) “X”/ /wnwug ULL/
17




wnbinbkpp

1 «Upuunw» UNC X 37 500
2 «MtGwphd» UMC 58 000
«Mniquutw Uhtwujwu
3 Qunhtuwlhy U2 58 500
Quithwpwdhtu 42:
Qudwl wnwpyw b hwunhuwund' Pwpbpwynpdwu ulng
<pwytph <pwytph Wohwdwuyw
wwhwugubpht wwhwugubtphu
Uwutiwlgh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywwnwufuwunn
wudwunwdp wt hwdwnnun
< hwjwnbp hwjwinbp uly nt
/hwdwwywwnwufuwubint | /shwdwwywwnwufuwubn wp:J:,p i
ntiwpnud ugk “X”/ L niwypnid ugk “X”/ ]
1T | «Gwduw» UNC X
9 «Mniquutw UhUuwujwu X
Llwr]hhwqh» ua
3 «EYyndhpu» UMC X
4 «OLqmth» umnpe X
5 | «Upuunw» UMC X
U“‘“““#*hg“" Cunpywé dwutwlhg Uwutwlgh
nb s U wutwlygh wujwunidp /nunpwd Jwutiwygh wnwowpljwé ghu
qreunsgnw hwdwn Uk “X”/ /wnwig ULZ/
wtinbpp
1 «Upuunw» UMPC X 9 500
2 «Owwnghu» UMNLC 13 900
3 «Gwdw» UNC 15750
«Mniquittw Uhtwujwu
4 L{wqhhwqh» ua 17250
5 «Eyndhpu» UMC 20 666.67
Quithwpwdhu 43:
Qudwu wnwplyw £ hwunpuwund' Pwuynpulw dknung 1
<pwytph <pwytiph Wuhwiwwyu
wwhwugubpht wwhwugubtphu
Uwutwygh wnwufjuwunypey
</ hwiwwywwnwuluwunn | shwiwwywunwujuwunn
wudwunwdp wu hwdwnnun
< hwyuinbip hwjwnbp tlwpwgpnt
/hwdwywwnwufuwubnt | /shwdwwywwnwufuwubn n :p i
nbiwpnud ugk) “X”/ L nbwpnid gk “X”/ nt
1 «q-UJLI_UJ» ume X
3 «Mniquiutw Uhtwujwu X
Ll.wnhhtuhh» ua
3 | «kyndhpu» UML X
4 «Olqmzhh» umnpe X
5 | «Upuunw» UMC X
6 | «Mttwphd» UMC X
Uwuhu;lllhghh Cunpyws Swutiwlhg Uwutwlgh
w nh wé Uwutwlgh wujwunwdp /punpqwd dwutiwygh wnwowplyuwé ghu
qriuntgn hwidwn Uk “X”/ /wnwg U</
wtnkpp
1 «Upuunw» UNC X 10 500
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2 «Owwnohu» UMC 12 000
«Gwdw» UMC 12150
«MtGwphd» UMC 14 000
«Mniquutw Uhtwujwu
> L{wrﬂmth» ua 14900
6 «Eyndhpu» UMC 16 666.67
Quithwpwdhu 44:
Qudwu wnwplyw  hwunpuwund' Pwjjuphpbtn
<pwytiph <pwytiph UtshwSwuww
wwhwgubpht wwhwugtbpht “
Uwutiwlgh mwuluwunipy
</ hwiwwywwwuluwunn | shwiwwywunwufuwunn
wudwunwdp wt hwdwnnun
< hwyinbp hwjwnbp uly nt
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwubn wn:igp i
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